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Irlote: This qLrestion paper contains two par.ts A and Il.
Part A is coinpulsory which ca.ries zs *orl'r. Ansrver all qLrestions in part A.Palt B consists of 5 Units. Ansiver 

- 
rn1,. o,r" fLrll question fi.om eacli unit.Each question carries r0 marks and may .,u". u, b as sub questions.

',):.-'.. ...' i : ', I i 
" 

I I I r . , i .

Identify the major advantage of sole proprietcr.ship? (25 Marks)
What at'e Lhe different phases in gurin.s! cycle? 121

Define cross elasticity;f demand. 
vi/wrwr 
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#f;,?n 
tt the most expe'5ive method of demand fblegasti,g among thg various n,.i',J.nr,

,Y#l;tt 
the trvo inpuii'ivoLr ,rouldl.oniider for p,.ouu.tion fun*ion ;,rn,r*" #i#

What are.the stages of product life cycle? l2l
What is the meaning of ,carriage i,r*"rJr,Z t3]
What constitutes ,net worth, oi, .on frryZ tzl
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,1vhat shorrld rr.tirr. .er.rence foi: oon-,pu.irol,
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PART _ B
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4.a') What is the need 1or derrc.,-t fnro^--+i.-.-rrI wr ! L (rJ L il I S .b) with suitable exarnples distinguish betieen cornplernentary goods and s,-rbstitutes. [5+5]
5' State the la,o' oi-suppl;'. what are tl,, a.to*ri,ra,is cl'supply? Explain briefl-v. l10l
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Distinguish between positive and normative approach ofstudy.what is the imprication orthe word 'rimii;, ;#ffi;,",i?l',i;,, name?
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6'a) If the marginal cost of a fir,r is rising, does this mean that its a.,erage cost is also risinr,?Explain briefly. 
rrrv!'rr crrql rrr (l"sr 

---^'D'
b) Given the following demand ctt^'e of a corlsumer for a monopolist,s procluct e: l4-2p,find the total revenue of the monopolist rr*, it sells six unit, oiit. commodity without

l'''1'1i,.- : practicing any form of price air.iiri;.,ion"'what i, ,n.' uuiu.'of .orr,in,,ers. surplus?
:' ' t .i ' .,,",... r- 'r---- *^"".i:r:r'r""r.)'rr' yvuo.! lt tne varue or consumers' surpriis?t 
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R:j*.":.:,i:"y:: ,-::11 yhat are the assumptions in breakeven anarysis?b) Suppose rrrat the prodr.rcrion runction fb, ;';;;",ri[]""*,i#'ili]ti, murtipriecr bi,scllrare root of (LK), wirer" I l: the quantitl'of output. i ltl* qr.ntity of Labour a,cl Kis the quantity of capital, indicate ,ut-,ettre. this pr.oduction fLmction exhibits constant,, , , , lnc4easing or decreasing returns to scale.

'8'a) wltat' are the types of accounts and rvirat are the r.ules -uoverni,g.them? Give tr,vo lexamples for each of thenr.
b) What is capital expenditure? Give three examples.

.. oR 
,rvJ. 

[6+41

NaTe aljhe acc-ount_ Dr. _.. Balance
, ,. 

. j: :j ;

9' Following are the extracts frorn the Trial Balance of a firm as at lrt Nlarch 2017.
the acc-ount" ..Dr. -.... Rala

'Pqtiqutars l; Rs. ,'Rs,

-lundiy debto6l 2;05,000'
Provision
doubtful debts

for 10,000

Bad debts 3,000
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10.a)

b)
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Hor,v accounting ratios are r:seful in fhe into" G-,_ ^^.--._-..: . 6
what are turnlver .utiori #r,-.; ;."*:; il':#:i1.j'X.0..,s turnovercredifor's turnover ratio /
-..i , , ,. - - , , , ,OR , ., i ... ,. .... ,, ....

Dcte.rrrinc * hich corn,an) is nror.e profitable givcn the lbllorving:Pat'ticulars AIrrl errrL) l.tu
Net pr-ofit rario 5% g%
Tr,,',t^r a'. ,.-':^
' Lrlrvyr/ rdil\, J illnes j LintgS
A btrsiness has current tsseLs of Rs. 30,00.000 inclirdin. q11ar ^r ^ r ... ^^ ^
crtn'ent liabilitic-s are Its.15.00,000. wr,"t i, t-r* :i;i;;l'il;"""i;;H"""1:;,3,:i,*"?,?;iil
con'sists o1'sltttdi'1' cebtoi's and cash, wJrat is the cluicl< r;rriol I-lot*,evei., if the busi,essshoLrld lt.rie rriairrtailiJ sttrel, ol 15.00.000. rrlrat 
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